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Interactive Question

A rubber ball and a lump of putty have equal mass. They
are thrown with equal speed against a wall. The ball
bounces back with nearly the same speed with which it
hit. The putty sticks to the wall. Which object
experiences the greater momentum change?

A) The ball

B) The putty

C) Both experience the same momentum change

D) Cannot be determined from the information given
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Interactive Question

You are on a cart initially at

rest on a track withno | .
friction. You throw balls at S —

a partition that is rigidly .
mounted on the cart. If the
balls bounce straight back as
shown, 1s the cart put in DG QO

motion?

A) Yes, it moves to the right.
B) Yes, it moves to the left.
C) No, 1t remains in place.



